WA -WEZ) 2017/9/29 R LA E—HS
Bites 3 (3 ER NN
= %58@*)?{% H EP e {Z'K A j(K (E) B4 Brig ke Ly FCER AR TN A&
FARA i ke gL e Rt 4 Frig ke B
Bft | EH 1L 2h 3L 447 5L 6hr 7ht 8L
semmr | og2en | 200m BmE ERAQ) 2437 (-2.2)| %2R RE—14(2) 24.40 (-2.2)|F1E #hH(2) 25.12 (-2.2)| %R HB(2) 25.35 (-2.2)|# /Il #AK(2) 26.33 (-2.2)|&# () 26.80 (-2.2)|)Il #ZBH(2) 26.92 (-2.2)|% % Kih(2) 27.20 (-2.2),
|55 mEH PRI s R BEHP R BEHP #in- RS iR M iR RS iR RS
0R29 |¥rm B#HQ2) 56.24(i%:& ZU(2) 56.36|1TH #th(2) 57.75| L EFR(2) 58.01| 0k A2 58.40| 5% JAK(2) 58.79|HE HEQ) 59.24|48 FHE(2) 59.82)
- F R R -WEHRS PN ks FH-amite #in BEEHS g Ngtep iR BmEPEH) iR BRI
0f298 | 800m |ﬁ¥r #EE2) 2:08.66|E 3 #(2) 2:10.60| 5 H Kiln2) 2:17.18|1E%% B2 2:20.02|7HE RAER2) 22191|#FR  FIRQ) 2:22.83|FTER ER(2) 2:2367|BF HAQ) 2:24.65
bR tis das #ia- £l Rtk R R iR -GiRE— iR M bR ik iR BFEh
on20m | 1500m |/J ® —H#Q) 4:20.24|F £ BRZEQ) 4:2486|7HE BN (2) 4:33.79|:2%F BKR2) 4:3474|/NRE BRA(2) 4:37.65[ L)1l E(2) 4:40.58|FEl 5D ZRAL(2) 441.19|1ILF  BRIR2) 4:49.25
ERcN=LE e GR|#ii&- ki GR|#i&- kil R =P #ig- il s B H iR NF iRt
o200 | 3000m |/J [Ty ) 9:32.30| KiE #£(1) 9:49.13| IR &(2) 9:57.27|#3# FEHEER(1) 10:47.46| )| 4#(2) 11:14.53
iR AiRS PR RN s ;R £l PN ks #in BEEHS
FiR R 46.21(378 BEH S 46.53( 7R - BFEH 47.53(%%- Ellish 47.64|F1R - WEH 47.66(¥715 - E+EF 48.03(#7R - BIRALH 49.16
EE B ER KBQ) BRIE K2) R B2 E=ZI 11 ::1¢))] Rl BEQ) #3 B0
91290 | 4x100mR |12 E4(2) FME #AEth2) W #@) KRB BEAEN2) wmE FRAQ) R HBREQ) Ly ELRE(2)
HE XE0Q) R B SFH K2 WA BXQ) FR B2 FEkE LM L #WERsh2)
wmE E&EQ) T KH(2) 4R HXQ) £ 1A02) SR ThR2) NG KE(1) JKIg 3EQ)
onon | e | & BREQ) 16348 M) 150|BEE Af(2) 135
Fin EES E R s EESH
011298 | lEmk |ﬁ&i§ KH2) 5.90 (+1.0)[#1L #iK(2) w5.67 (+2.6)[JEJIl ThiH(2) w5.57 (+2.3)|1EBE FHi(2) w5.44 (+2.4)| K& 1&5(2) 544 (+1.7)|EH B2 w5.30 (+2.5)| Tk K%1(2) 5.30 (+1.0)[iEfE RZAQ2) 5.18 (-0.2)
Bl Rl i RS s M #ia- bilch i BRH k-8R iR BEEHS iR KA H
VERT 9f29 100m |§ A 12.54 (-1.2)[/hEIE KZ(1) 1257 (-1.2)[KXH #K(1) 12.85 (-1.2)|7# AR 12,93 (-1.2)| 8 X&) 13.05 (-1.2)[fniE B2(1) 13.07 (-1.2)| KEE A&l 1322 (-1.2)|4&E E() 13.61 (-1.2)
R EEP R B+ES #is- LB s BT i A+ES s EiET ikt ikl
omi20m | 1500m H=H ORE®W) 4:48.88|Fk FR() 5:0052| & K#(1) 5:0089[dtE  AEH(1) 5:01.31[/kk A1) 5015584 2=4F(1) 5:03.75| L& BN 5:03.84|hEF (1) 5:04.82
Btk iR NEH R EEP i £l i EESH iR dmEhEH) i EES bRtk
ofi2on | 100mm |x &R 17.92 (-0.D)[/ME RA() 18.13 (-0.7)| 1k a1 19.66 (-0.7)[ 1L/ £ BEA) 19.96 (-0.7)|BI#R ZEK(1) 19.99 (-0.7)
Bk E Rtk R WEHRT R AEP #is- LB
onon | s |:Ii§$< (1) 6.35[IUMA FEE(1) 6.30[HEK BN 525 L@ EE() 4.53
i EES R -ame 5 RiEh R EEP
srn7 | onzen |7KI|L% 3E(2) 11.76 (-2.2)| 1R #K(2) 11.94 (-2.2)| K+t BpR(2) 1224 (-2.2)|7T #8E(2) 12.29 (-2.2)|#8 KM(Q2) 12.44 (-2.2)|ILEA FBX(Q2) 12.54 (-2.2)|4k % 1A(2) 12.68 (-2.2)| ki #(2) 12.73 (-2.2)
Fin-amRdts E Rtk R BA+EP R EEP s R HF S #ia- il #ik- kil ikt
om290 | 110mi |.—.t‘S E£EQ) 17.52 (-2.8)[HlK HIKR(2) 17.89 (-2.8)| Bl Eh(2) 18.02 (-2.8)[iEEE Z/EE(2) 18.27 (-2.8)|[4& 1L (2) 18.27 (-2.8)|4EH BEFH(2) 19.13 (-2.8)| &3 HAME(2) 19.51 (-2.8)
ERcRotitidan R ikl R Bt+RS i £l s R AP b=tk ik N
on208 | m |x2r ik 98287 (2 932(BE HWKQ2) 8.20|FEE KME(2) 8.05|KiE #HhE(®2) 7.75|%7:2 BAEA(2) 167|8HK Ez(©) 709|FE (2 6.91
ik BT 5 Ll ;i AiRE ik 7)o i EEH iR BmEhEH) Fim- Ll ik R

w (wind assist) : 18
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WA -WEZ) 2017/9/29 TR LA JE—HS
Bt 2 b R SRR I iy U T PAN = B N
e %58@*)?{%”1 EP% e {Z'K A j(:s (E) B4 Brig ke Ly FCER AR TN A&
FHARA i ke g e Rt 4 Frig ke B
Bft | EH 1L 2h 3L 447 5L 6hr 7ht 8L
ssinser | onzon | 200m A HEBQ) 27.44 (-4.3)| K45 BBAHE(2) 2841 (-4.3)|¥EA BH(2) 28.76 (-4.3)| &£ FH HE(2) 28.86 (-4.3)|iEi8 $5E®2) 29.54 (-4.3)[ILE BEE(2) 29.72 (-4.3)|HIE HEQ2) 29.77 (-4.3)| Nk HHE®Q) 29.83 (-4.3)
| R i PR RN s PN ks R =P s Rinth iR EmEhEH) iR g iR BEEHS
om29m | s00m |§273& E£10)) 2:33.47|iE8 E#(2) 2:33.66|FEME #(2) 2:35.21|tH 52 2:40.03| K% (2 2:43.26|/&# £EF(2) 2:46.02|#5E F(2) 2:49.37(2E BZ(©) 2:50.57
ERcRotis das #ia- RS R BEPEH R ARE—F iR M s M iRt iR BEEHS
om20m | 1500m WA #8502 5:05.63| ik BH(2) 5:08.22|EF #HEQ) 5:08.34| g (2 5:08.66(ER EH#(2) 5:23.46|#8 K FEHIE(Q2) 5:24.18| HME #7(2) 5:25.40|4RE A[EQ2) 5:28.03
138 -+ iR RSP R R ; iR EET iR -AtEs iR BFEh iR RS
#iR Nt 5221|118 -=HP 53.54| %% MEFH 53.94 54.05| %% - EEH 54.56| %% - IR & p 55.32| 78 - H 55.68| ¥k B+ EH 56.26
#H BER1) &% Y A1) AHE HEQ2) £ XE5EQ BFH FAERQ mH HREQ) EE U2
9H29H | 4x100mR |G/ K #522(2) &H FRQ) g 90 Fk EBE0) MEF HERQ) £k #(1) HE BER0
[ =0 R BRQ) KE ®Q) ik pE) K3 HAQ) AHE #T2) Fk #MEQ)
K5 BHEQ) R AERQ) PR REW) REA E2) =g HHYQ) i HIE0) TH HLV2) Mg BE0)
ofizon | e |§I|L% EX(2) 1.46|&EK &2 1.40|h0iE &/ AR ED 1.35|88K IDE(2) 1.30| k% H%HQ2) 1.25|F@ FHE1) 1.15
e BEHS R BEHP i BEHT #is- Nt iR FRE—H #Hin GiRE—h
011298 | lEmk |§»‘§€ FREQ) 484 (+1.9)|{EBE X&F(Q) w453 (+2.4)[FR FKR(2) 434 (+1.4))308 FEQ) 424 (+1.8)|5H BHQ) w19 (+2.)[[RERE #wE0) 413 (H1.7)| LA EEH(2) w4.08 (+3.0)[/MII BEF(1) w4.05 (+3.0)
Btk RN i ik M #is- Nt bRtk iR MEH RS i EEH ik N
vewr |onzen | 1oom |%m ExI) w13.66 (+2.9)|#7 BE(1) w13.70 (+2.9)|FEHE &) wi3.74 (+2.9)|% FH() w13.86 (+2.9)|BER (1) w1401 (+2.9)| K& EEQ1) wi4.13 (+2.9)|iEE HHY() wi14.25 (+2.9)|/h0 E A1) w14.34 (+2.9)
s RN ik s EES #is- Nt #iR- £l ik Nt i RS iR FRE—H
orizen | soom |{2~:»‘$ [+0)) 2:31.42|iE8% EH() 2:34.14| 1L EEO) 2:35.22|iEmE &KH(1) 2:38.50|/NVE B A1) 2:41.63|8FE E/HW) 24314078 EBH(1) 2:4315(LE B#1) 2:43.48
Bl Rl g B+mP s EESH i FRIER i g ik Nt i RS iR aiRsh
ori2en | 100mr |=FH &) 16.45 (-2.0)|1kE 9 A1) 17.44 (-2.0)[E4E B0 17.96 (-2.0)|{&E £%£0) 18.33 (-2.1)|EHE =2k(1) 19.50 (-2.0)|Aed FEH(1) 1951 (-2.0)[[EH FL2F0) 20.70 (-2.0)|FE BEF) 22.77 (-2.1),
EkcRat ks iR =T i BEHT s BR$ #Hin BEEHH ik Nt iR FRE—H iR BEEHS
on20m | mss |#E FER(1) 8.18[@aH# HTH() 187|RE B(1) 6.86|mix BE() 6.84|# MEE(1) 5.89
iR aRE—F i £l R =T ;iR NE$ i BR$
sttt |omen | 100m TH HLQ2) 1327 (-1.9)|EAX Ei2) 13.40 (-1.9)|BEIE #E(2) 13.48 (-1.9)|F1R X2 1353 (-1.9)| FH #H%Q) 1424 (-1.9)|k# Q@) 1426 (-1.9)|BA HFE(Q2) 14.38 (-1.9)|EH 2(2) 14.41 (-1.9)
bRtk R HRE—P R Tt e R =T in-MEH RS iR EESH ik N iR FRE—F
om1290 | 100mi1 /K #ERQ) 16.28 (-1.8)| ALl #43£(2) 1829 (-1.8)|FFM FE(2) 18.37 (-1.8)| ik HD(2) 18.69 (-1.8)|th#t #FE(Q2) 1873 (-1.8)| EH EREQ) 18.82 (-1.8)| A¥t X&) 18.88 (-1.9)| @l KEH?2) 19.48 (-1.8)
Bl ik ;iR NEH ;iR ARg R BsPEH) s R HF S s R HF S Hin BEREHS Hin BEREHS
ofizon | ms |;‘2‘e§ VHt=(2) 97620 BRH(2) 7.49|KIB F32(2) 6.98|mH #HHRQ) 6.57| Rk FUE(2) 6.52| AE EHE(Q2) 6.19|BTED FEIHE2) 6.11|H2 £ 5.89
Fia BHES E RN 1k i WEHET Hin BET i g ik EHEH iR MEEH RS ik NF

w (wind assist) : JE
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